
Lösung	Aufgaben	16.03.-22.03.2020	
	
Arbeitsheft	HA	Direkt	proportionale	Zuordnungen:	
	

		

	
	
	
	
	 	



Bist	du	Fit	Kapitel	2:		
	
o LB.	S.	99	Nr.	1	a	
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o LB.	S.	99	Nr.	2	a	
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o LB.	S.	99	Nr.	4	a	und	4	b		
			18,653	
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									=	406,62	
	
o LB.	S.	99	Nr.	5	a	

370	·	1908	
370		
		3330	
				0000	
						2960	

								=	705,960	
	
o LB.	S.	99	Nr.	8	

86,25	€	:	25	Schüler	=	3,37	€/Schüler		
	
	 	



o LB.	S.	99	Nr.	11	
a) 1,5	t	+	1,75	t	+	0,715	t	=	3,965	t		

Antwort:	Es	sind	3,965	t	geladen.		
	

b) 3,965	t	+	0,975	t	=	4,94	t		
5t	–	4,94t	=	0,06	t		
Antwort:	Nein,	es	dürfen	noch	0,06	t	zugeladen	werden.		

	
c) 4,94	t	:	4	=	1,235	t		

Antwort:	Jedes	Rad	trägt	1,235	t.		
	
o LB.	S.	99	Nr.	12	

a) 0,6	·	y	=	0,96	à	umstellen		
	
0,96	:	0,6	=	y		
0,96	:	0,6	=	1,6		
														y	=	1,6	
	

b) 0,8	·	a	–	0,6	=	2,4		à	umstellen	
	

		 	2,4	+	0,6	:	0,8	=	3,75	
	 	 										a	=	3,75	

	
Bist	du	Fit	Kapitel	3	Zuordnungen:		
	
o LB.	S.	121	Nr.	4	a	b	c		

a) 	
Seitenlänge	eines	Quadrates	(in	cm)	 	0		 	0,5	 1	 1,5	 2	 2,5	 3	 3,5	
Flächeninhlt	des	Quadrates	(in	cm2)	 0	 0,25	 1	 2,25	 4	 6,25	 9	 12,25	

	
	

b) -	
c) -	
à	Hinweis:	folgen	nächste	Woche	–	Frau	Entian	hat	kein	Millimeterpapier	mehr	J.	Folgt	
nächste	Woche.	
	

o LB.	S.	123	Nr.	2	a	b	c		
a) 	

Schinken	pro	100	g		 Preis	in	€	
Bauernschinken		 1,20	
Nussschinken		 1,60	
Frühstücksspeck	 0,80		
Schwarzwälder	Schicken		 1,90		

b) -		
c) -		
à	Hinweis:	folgen	nächste	Woche	–	Frau	Entian	hat	kein	Millimeterpapier	mehr	J.	Folgt	
nächste	Woche.	

	


